

Konzultáció P0 2024.12.09.

Alakcsere szabály : ...

$$\int \underbrace{\cos(2x+5)}_{f(g(x)) \cdot g'(x)} dx = \frac{1}{2} \cdot \int \underbrace{\cos(2x+5)}_{f(g(x))} \cdot \underbrace{2}_{g'(x)} dx = \frac{1}{2} \cdot \sin(2x+5) + C$$

$$f(g(x)) \cdot g'(x) \quad g(x) = 2x + 5 \quad f(x) = \cos(x) \\ g'(x) = 2 \quad F(x) = \sin(x)$$

$$\int \frac{1}{x-5} dx = \ln|x-5| + C$$

$$\frac{f(g(x)) \cdot 1}{x-5} \quad f(x) = \frac{1}{x} \rightarrow F(x)$$

$$\int \frac{1}{(x-5)^6} dx = \frac{1}{(-5) \cdot (x-5)^5} + C$$

$$\frac{f(g(x))}{x-5} \quad f(x) = \frac{1}{x^6} = x^{-6} \rightarrow F(x) = \int x^{-6} dx = \\ = \frac{x^{-5}}{-5} + C = \frac{1}{-5x^5} + C$$

$$\frac{1}{6} \int \underbrace{(x^6 - 5)}_{f(g(x))} \cdot \underbrace{6x^5}_{g'(x)} dx = \frac{1}{6} \ln |x^6 - 5| + C$$

$$f(g(x)) \rightarrow f(x) = \frac{1}{x} \rightarrow F(x) = \ln|x|$$

$$g(x) = x^6 - 5 \rightarrow g'(x) = 6 \cdot x^5 - 0$$

$$\int \frac{\sin x}{\cos^6 x} dx = \int \underbrace{(\cos x)^{-6}}_{f(g(x))} \cdot \underbrace{(-\sin x)}_{g'(x)} dx = \int \frac{1}{5 \cdot (\cos x)^5} dx = \frac{1}{5 \cdot \cos^5 x} + C$$

$$f = x^{-6} \rightarrow F = \frac{1}{-5x^5} + C$$

$$g = \cos x \rightarrow g'(x) = -\sin x$$

$$= \frac{1}{5 \cdot \cos^5 x} + C$$

$$\int \underbrace{(\text{poli})}_f \cdot \underbrace{\frac{e^x}{\sin x / \cos x}}_{g'} dx = f \cdot g - \int \underline{f'} \cdot g$$

$$\int \underbrace{(x^2+x)}_f \cdot \underbrace{\text{sh} x}_{g'} dx = (x^2+x) \cdot dx - \int \underbrace{(2x+1)}_f \cdot \underbrace{dx}_{g'} dx =$$

$$= (x^2+x) \cdot dx - \left((2x+1) \cdot \text{sh} x - \int 2 \cdot \text{sh} x dx \right) =$$

$f \cdot g - \int f' \cdot g$

$$= (x^2+x) dx - (2x+1) \text{sh} x + 2 dx + C$$

$$\int \underbrace{(5x+1)}_f \cdot \underbrace{e^{-2x}}_{g'} dx = \underbrace{(5x+1)}_f \cdot \underbrace{\frac{e^{-2x}}{-2}}_{g'} - \int 5 \cdot \frac{e^{-2x}}{-2} dx = *$$

$g' = e^{-2x} \rightarrow g = \frac{-1}{2} \int e^{-2x} dx = -\frac{e^{-2x}}{2} + C$

$$* = (5x+1) \cdot \frac{e^{-2x}}{-2} - \left(-\frac{5}{2}\right) \cdot \int e^{-2x} dx =$$

$$= (5x+1) \frac{e^{-2x}}{-2} + \frac{5}{2} \cdot \frac{e^{-2x}}{-2} + C$$

invers

$$\int \underbrace{x \cdot \ln(2x)}_{g' \cdot f} dx = \ln(2x) \cdot \frac{x^2}{2} - \int \frac{x^2}{2} \cdot \frac{1}{2x} dx$$

$f \cdot g$
 $g' = (\ln(2x))' = \frac{1}{2x} \cdot 2$

$$\rightarrow g = \int x dx = \frac{x^2}{2} + C$$

$$= \ln(2x) \cdot \frac{x^2}{2} - \int \frac{x}{2} dx = \ln(2x) \cdot \frac{x^2}{2} - \frac{x^2}{4} + C$$

$$\text{all: } \left(\ln(2x) \cdot \frac{x^2}{2} - \frac{x^2}{4} \right)' = \frac{1}{2x} \cdot 2 \cdot \frac{x^2}{2} + \ln(2x) \cdot x - \frac{x}{2}$$

$= \frac{x}{2}$

$$\int \frac{1}{\cosh x} dx = \int \frac{2}{e^x + e^{-x}} dx = \int \frac{2}{t + \frac{1}{t}} \cdot \underbrace{\frac{dx}{dt}}_{x'(t) = \frac{1}{t}} \cdot \boxed{dt} =$$

$$\int \frac{1}{\cosh x} \cdot dx = \ln|\cosh x| + C$$

$f(g(x)) \cdot g'(x) \quad F(g(x))$

$$x = \ln t \quad \frac{dx}{dt} = \frac{1}{t}$$

$$= \int \frac{2}{t + \frac{1}{t}} \cdot \frac{1}{t} dt = \int \frac{2}{t^2 + 1} dt = 2 \cdot \arctan t + C =$$

$$\int \frac{1}{x^2 + 1} dx = \arctan x + C$$

$$= 2 \cdot \arctan e^x + C$$

$$\int_0^1 \frac{1}{\cosh x} dx = \left[2 \arctan e^x \right]_0^1 = 2 \cdot \arctan(e) - 2 \cdot \underbrace{\arctan(1)}_{= \frac{\pi}{4}}$$

$$\int_2^3 \frac{2x}{x^2-1} dx$$

- ① nem kell polinomosztás
② nevező szorzatainak

$$x^2-1=0 \quad x = \pm 1$$
$$(x-1)(x+1)$$

$$\frac{2x}{x^2-1} = \frac{A}{x-1} + \frac{B}{x+1} = \frac{Ax+A+Bx-B}{(x-1)(x+1)}$$

$$2x = (A+B)x + A-B$$

$$A+B=2 \quad \Leftrightarrow A=B=1$$

$$A-B=0 \rightarrow A=B$$

$$\int_2^3 \frac{1}{x-1} + \frac{1}{x+1} dx = \left[\ln|x-1| + \ln|x+1| \right]_2^3 =$$

$$= \ln(2) + \ln(4) - \left(\ln(1) + \ln(3) \right) = \ln 4 - \ln 3 + \ln 2$$

$$\int \frac{2x}{x^2+1} dx = \ln|x^2+1| + C$$

$$f(g(x)) \cdot g'$$

$$f = \frac{1}{x}$$

$$g = x^2 + 1 \quad \uparrow \quad g' = 2x$$

$$\int \frac{2}{x^2+1} dx = 2 \int \frac{1}{x^2+1} dx = 2 \cdot \arctan x + C$$